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Block -21-Length

1.Fill in the blanks

(a) 3500 = cm

(b) 18m135mm = mm
(c) 100 cm = mm
(d12km=_ m
(e)0.56m=___mm

2. Vinay walks 35.5 km in a week for her-weekly routine. How many kilometres
will she walk in 6 months?

3. Tanya has broken her 16cm long ruler in 2 pieces. If one broken piece is 5.2 cm
long, then what is the length of the other piece?

4. Add the lengths given.in.mixed units

(@) 3km500m + 1km100m

(b) 6cm8mm +6mm

(c) 80km840m +15km 532 m

5. Subtract the lengths given in mixed units
(@) 10km200m — 8km100m

(b) 9cm7mm — 5¢cm

(c) 27km60m — 8km5m

6. A truck driver drives his truck from City A to City B in 12 days. The distance
between City A and City B is 1200 km. He drives an equal distance every day, out




of which he drives 55km 872m in the morning and the rest in the evening. How
much distance does he travel in the evening every day?

7. Kiran has 16 cows. Each cow ploughs 5800 cm of land in the morning and 76m
of land in the evening. How many km do all the cows plough in 1 day?

Block-22
Weight and Capacity

1. Fill in the blanks

(a) 850g= mg

(b)82kg20g = kg

(c)859g= kg

(d) 12300kg= kg g

(e) 1000g= cg

2. Ram purchased 5.50 kg of potatoes and 4-kg of tomatoes. Half of the

6.

potatoes and one- fourth of the tomatoes were used. How much tomatoes
and potatoes are left?

A shopkeeper sells 35 bottles of 1 litre oil and 55 half litre bottles per day.
How much oil will he sell‘in.one month?

The cost of one kg of wheat flour is Rs 24. Rashida bought 220kg of flour.
She made smaller packets of flour weighing 110 g each. How many packets
did she make?

A petrol pump had 924 L of petrol. 16.5 litres petrol was filled in 5 vehicles.
20L.200ml-of petrol was filled in 2 cars and 5 litres of petrol was filled in 15
bikes. How much petrol is left in the petrol pump?

Tick the.correct answer

(@) A baby drinks 50L/ 500mI milk in a day.
(b) A water tank at home holds 800mI/850L water in it.

(c) Abottle of medicine holds 70ml/1L syrup.
7. Add:

(a) 123kg220g + 85kg720g

(b) 279625mg +59460mg




(c) 105kg25g+ 113kg870g

8. Subtract:

(a) 9kg625g from 13kg250g
(b) 45g130mg from 110g15mg
(c) 25kg18g from 89kg 108g




